*8.29 Derive the state table for the circuit in Figure P8.2. What sequence of input values on wire
w is detected by this circuit?
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Figure P8.2  Circuit for problem 8.29.
29. Present Next state Output
state w=10 W= ] z
A A C 0
B A D 1
C A D 0
D A B 0

The circuit produces z = 1 whenever the input sequence on w comprises a 0 followed by
an even number of 1s.
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Figure P8.2  Circuit for problem 8.29.

The circuit produces z = 1 whenever the input sequence on w comprises a 0 followed
m@number of Is.

A
P t Next state Output
state wi wl z
A A C 0
B A D 1
Cc A D 0
D A B 0
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